TAMIL NADU TEACHER ELIGIBILITY TEST (TNTET) - 2012
TNTET urdifl eflemmggnsr / Model Question Paper
ger — I - Paper — II
INSTRUCTIONS FOR CANDIDATES

1. The Test Paper contains a Booklet of Questions and an OMR Answer
Sheet. When you are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars carefully with blue/black ball point
pen only.

2. The test is of one and half hours duration and consists of 150 questions.
There is no negative marking.

3. Use Blue / Black Ball Point Pen only for writing particulars on this page /
marking responses in the Answer Sheet.

4. The CODE for this Booklet is B. Make sure that the CODE printed on Side-
2 of the Answer Sheet is the same as that on this booklet. Also ensure that
your Test Booklet No. and Answer Sheet No. are the same. In case of
discrepancy, the candidate should immediately report the matter to the
Invigilator for replacement of both the Test Booklet and the Answer Sheet.

5. This Test Booklet has five Parts, I, II, Ill, IV and V, consisting of 150
Objective Type Questions, each carrying 1 mark:

Part I: Child Development and Pedagogy (Q. 1 to Q. 30)

Part Il: Language | - (Tamil/Telugu/Malayalam/Kannada/Urdu) (Q. 31 to Q. 60)

Part Ill: Language II-(English) (Q.61 to Q.90)

Part IV: Mathematics and Science (Q. 91 to Q. 150)

OR

Part IV: Social Studies (Q. 91 to Q. 150)

6. Candidates have to choose any ONE language under Part Il Language | in
accordance with their Language | studied in their Degree. In such case the
candidates have to ask for the Question Booklet containing the languages
other than Tamil.  The languages being answered must tally with the
languages opted for in your Application Form.

7. Part IV has options between (a) Mathematics and Science / (b) Social
Studies. Candidates have to either answer (a) Mathematics and Science
OR (b) Social Studies.

7. Rough work should be done only in the space provided in the Test Booklet
for the same.

9. The answers are to be recorded on the OMR Answer Sheet only. Mark your
responses carefully. No whitener is allowed for changing answers.
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1

GYhms GuuT@OL SHLSS560 (LemmEEHLD
Child Development and Pedagogy

SerelerIL(HSEID Ileleorll Lsigeme LTueLILHSSILeT
A smieGrTeie B Lmieflesr C emL6or D umsuGsor

Non Directive councelling was advocated by

A Karl Rogers B Darwin C Taylor D Pavlov
‘GeTeSH6T 9 liie|’ eTeTm HTeney Geusfud L eur
A egmeor Gl B eflsusdlwuid Gegibeio

C elaui(h) S&Femen D  dlsuwevore Slymii(h)

The book titled ‘Dream Analysis’ was published by

A John Dewey B  William James

C Edward Tichenes D  Sigmund Freud
Lo6BTLIGLITITITL_L_Migs61fl60T 6116018861

A 4 B 2 C 3 D 8

Types of Mental Conflicts are
A 4 B 2 Cc 3 D 8

&MLIS560l6T (Lpsev Lig flsmev
A il Qs B swrt Qeiige C aundlgssn D SLblbhise

First step in Teaching
A Evaluation B Preparation C pursuing D Planning

geummeor Geomgsmwl GHIILN(HS
a) misvorsoorley] Frey Gamgement — gy soLirl LGeor b) Guomfl& GCargemerr—
Geus e
o mr—C.A.x100

M.A.
A a & b aflwmssr allem B a & c aflwumesr eflemL
C c¢ & a aflwumesr aflenL D b w’(u &f

Find the odd pair out
a) IQ test — Albert benaeb) Verbal test-vexler ¢) I.Q - C.A. x 100
M.A.

b are correct B a & c are correct

A a &
C ¢ & a are correct D b alone is correct
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6.

&(HMISleTCLTS gy suofl_LilmBg GQuDLLGLD &G6rTGLrGeLd
AY B X C XY D XX

During fertilization the chromosome received from the male

partner is

AY B X C XY D XX
letoTemTey SThS L6iT(Lp&s&smsmnils Camlum igsmer gjerall_ Sremen._&
SamId euifl wirg ?

A CVAD B CAVD C CDAV D CDVA

Name the test deviced by Thorndike in multiple theory of

Intelligence

A CVAD B CAVD C CDAV D CDVA

ST600TL_60—G|6VMBIS60 6TMLIL& SHITIT6ToTLD
A epemer B ppdliFH  C  yevedr 2 miiseT D 9|@LeImis6T

Stimulus - response is due to
A Brain B Maturity C Sense organs D Experience

A «—>
B >
GCGev smamid @\ Carhisefley ‘A’ steorm Camh B’ smiw eflL Harld Gsmomhal
Sremld s lulleneor 6T6OTEVITLD
A umibserLmit Siflys srd B u®&ms CriGsr® Siflus smd
C Gaeverriien Hiflys sm gl D (psveuri—eowit Siflys sm &
A «—
B >

In the above figure the line ‘A’ is perceived to be shorter than the
line ‘B’. This is due to

A Poyendoffs illusion B Horizontal — Vertical line illusion

C Zollener’sillusion @ D Muller-Lyer illusion

10.  @Lorll UmeULD 6(h F&semeer YemodILmm Li(FeILD 6T6TS SnpliLieurt

1.

A Yisger B Gemed C  evLmeredl ammey D eileusdlud & @se

Adolescence is a period of storm and stress — said by
A Brickson B Cole C Stanley Hall D William Mcdougall

2 |60 GawesoumhigseT wnmid 2 67§ GFWLIT(h&S6T @)T6uTie sn6TILLD STTEHS
@&weLL 2 Sad (PS&EH BrarLhssurs sl
A S f srg B eogrmil syl
C umrmengrmilh &y D g ifered sy
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12.

13.

14.

15.

16.

The main ductless gland that regulates the physiological and
psychological functioning of a person is

A The pituitary gland B Thyroid gland
C Para thyroid gland D Adrenal gland
B epsTensgiseflilmhg Gsmihg aufl auflurs o L e,
2 _emLiLstoTL|S6 L6t ShSEl8EmEE) sietTaeflsT eLpeLITE; 6(hS6m6v
6T60T 9|6mLpSElsoTGMITLD
A uflewormio euer & B 90565 s Hlemeu mmmL
C 2. uilflweb womy flsmev D @emne eTgia Lbhssmen

The transfer of physiological and genetic characters from
parents to off springs through generations is called

A Evolution B Transfer to next generation
C Biological heridity D None of the above
(15 S, @ITL oL W6 G 65,Lpe0lev eueTihEHGLITE, @lauTseflsnL Gi

GlevoTenuriley Fre (1)
A r=0087 B r=0.0870 C r=087 D r=8.7

The IQ correlation (r) of monozygotic twins, brought up in the
same environment is
A r=0.087 B r=0.0870 C r=0.87 D r=8.7

BwrGeguiletr gnlsed Slmetr eusmi &S uflesr eLpsoTmmd Hlemen
wer& QEwLT.(H&E (Phemsiu [Hemev

SHEUTE LTS LIMTLILINS soeusg1&F Shdsg GawsuLd Hemev

@& (h 2_6wT(HLD LI(H6ILD

peopwrs CuTHss) Shdsg) sremsmrmigsfler ojelinemLuflsy ClgwsHLHILD
Lo6aTTHl6mEV

gow»

According to piaget is the 3 stage in the cognitive
growth of an individual

A Pre-operational stage

B Concrete operational stage

C Sensory Motor stage

D Formal operational stage

2 I &M& eLpsuld SHMEM6 (&6 (LpSedled afleTs et
A B.F. svdlereori B Gofl seyi Gegmeorev  C - umeuGeor D Gasmeort

Learning through insight was first shown by
A B.F. Skinner B Mary Kavur Jones C Pavlov D Kohler

g6aum| GlFILLD LoTeToTeLemET &H(HSS 6THMS)
A S600TL 6m6uT B mevaufl s (hge
C uflaser gaflsg6 D seor(h Qamsmsmmiosy el (b ellHge0
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The best way to change the wrong doing of a child is by

A Punishment B Teaching good moral values
C by giving awards D ignoring his behaviour

17.  misoremorodley (pSHi&d) Qurgieurs (pepemn GLumd aiug)
A 10-11 B 19-20 C 40-41 D 15-16

Intelligence attains its maximum level at the age of
A 10-11 B 19-20 C 40-41 D 15-16

18. g sedmetr umlu eTerGam_m Gamgemeruiler (GlLomfl mmin
Gomflullevevrd GamsemenT) 2 (HLILI S6IT 6T&S6060T
A 10 B 14 Cc 12 D 19

State the total number of creativity tests (Verbal + Non verbal) in
Minnesota test of thinking
A 10 B 14 C 12 D 19

19.  9&Ws6T, Um&eT Y SGWMTg) @iusLsemar ailarsdlwaur
A GalLe B &&6rs C Qs D wml

Personality traits such as introvertism and extrovertism
personality was explained by
A Cattell B Eysenck C Kemp D Yung

20. 9y Ememsmi QjeTafL L LwssrLHID s GlLmmSSLmeT (smm
A swaflog B &w ik
C unGLomfl Cammusme D  werlureTsn 9j6Te|Gsme

The most apt method of evaluating a person’s personality is
through

A Autobiography B  Self rating

C Questionnaire D Attitude scale

21. flema Hlemev Loeurid sTeoTm Hlemev 6THS a6 (58S sTHLIHIEIME
A 13 B 3-6 C 6-9 D 9-12

Super ego stage occurs at the age of
A 1-3 B 3-6 C 6-9 D 9-12

22. yemeiv Lswmsfler g @iflur sr gjere| Gamadlmeri LwTLHISS)
SL&@MINIL_Ou” Qs stiustorleneer o Afwiflib gjereilh Gsisom
A 98 wifleT BLSm& HmID 9 & LILIeboTL
B o diflwflesr uifley mmid ey
C g dlflwiflser @lwmi@L Lssor] LMMID KL Sms
D @lmel emearsgin
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Which of the following can be evaluated using Bruce Tuckman’s
Teacher Feedback form

A Behaviour & Creativity B Warmth & acceptance
C Dymanism & Organised D All the above
demeanor

23. amevsiv eTaTLIRITG DML GETeTemsUllsne GNISEGL (FHSSITLD Wirg)

A SER=DRXSHxK-1I B RES=DXSRHxK-I
C SER =XDSRHR x K -1 D SER =DXSHR x K -1
Hull’s theory of learning formulae is

A SER = DRXSH x K -1 B RES=DXSRHxK-I
C SER =XDSRHRx K -1 D SER =DXSHRxK-1

24. epemsmuflev LG Hlemsareln@ L& (P&SIL STTsuoTLONS @NLIMKIEL
GeugI Gl (m6iT
A yererer. B guiemereg. C Urs D smGurenamiy Gy

The most potential chemical agent responsible for memory is
A D.N.A. B R.N.A. C Proteins D Carbohydrates

25. &ITev UG 8, L6uT AUILIG| 7 LOMMILD SiT6V GG 7, LO6T eS| 8 2 6iTer
@eueilmeufleir mistTsoTniley Fre WS ?
A 87.5& 114.5 B 85.7 & 141.5
C 8.75&11.45 D 875& 114

The Chronological age of one child is 8, Mental age is 7 and
another child is with C.A. 7 & M.A. 8, find out their 1.Q. Level.
A 87.5& 114.5 B 85.7 & 141.5

C 8.75&11.45 D 875 & 114

26. anflsdl eTeorLIeuT 1909 941 gy etor(h) HmiaIliL GWHEBSSHET 2 6T B HSGI6!
N 6TThIEG) I|emLOTGI6T6ETS)
A geuderur B @idur  C HserGear D sayd 9)Gmilwm

In which country was the Juvenile Psychopathic Institute
established in the year 1909
A Australia B India C Chicago D Saudi Arabia

27. seueT aiFmE 9TEHS 2 Gald &(Ha
A  SmeLmeGaL B  eaimis Gemgmen &med
C Lmrélev LmenGasL D hlemeurey, o memar &mail

The device used to measure the span of attention is
A Kaliedascope B Mirror drawing apparatus
C Tachistascope D  Memory drum apparatus
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ii.

28. Uil sm&GeuT eTeTLIITS) SnMMILiLily SHMEV 6T6ITLIG
Ligflemsugssmer GlsmevorL_g|
A 5 B 7 Cc 8 D 6

Robert Gagne’s theory of Hierarchial learning includes
types of learning
A 5 B 7 Cc 8 D 6

29. flemeorailstr (P& @ITetoT(h emSS6T
A STM&LTM B ATM&GTM C LTM & ATM D ATM & STM

The two types of memory are
A STM&LTM B ATM&GTM C LTM &ATM D ATM & STM

30. VIBGYOR etsttLig) TTLSNS (5 FMGS THSSISST(H
A smus spme B Heere (sHmiser  C eraflu smmed D Gomssfl&eio

VIBGYOR is a good example of
A abbrevation B Mnemonics C easylearning D monics

Language I — guflp — Tamil

&L 2 6Tam LSSlemiil LigSgi 1 (pSed 3 eusmiy 2 66 el & En&E allemLiuaflés.

Sl Erilps shis SMVSSHNG Perercr eeliubigsT amTWLILLL 6T, ST

g eliutismear  (pSle  SeorGleWwss  TeTem  aupmiSleTi. S

@sEusEN TS TETUSNE el sermid Cummer o 6Targl. CrT&GsT(H),

ComemrsCam(), susmerCam( s susmmuiul L afliumgst Cam GLrallumigsT

steoTCILOID.  eeefliiser  sTeTemoTmISafler  sTEFSlemIL LG  eustoTsTOTRIS 66T - GlemeTT

Qametor(h)  6TGICMTTSHE06T SetoTsonle  ellemeorehi  sTeOTILL L 6T, 9y 6var  epailim

‘FesTTRISS6T eTera|ld, Gluetr eilur ‘FSSTGaeT’ Tara|d YempsasLiL(bleur.

31. sumarCam(hser Gasmer(h suemTLLILI(H6IS)
A s e B Gar GLmeilw
C yewesmum el D umsmes el

32. ‘sevorem6T 6SlemetT(EhIT 6TEITMEMLS SLILIBILISUIT

A Leoeur B um_a&i
C BIllpW&amT D geflwr
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33. ‘Gluetor efluiser’ @leusumm| oemLpsSsLiLbhieur

A HsSHrGaerm B #sdlmmisg e
C &sdHriumene D &lgdirssmmi yedl

34. ‘Fhguiled sl LMy b K60 6T6aTM)] WITT LITEHITLI LITlg 68TTIT
A unrégreer LTySlemiu B unrdl unrélsmesmnet
C eumemflgmasr Lmyéleni D und) sumesnilgmaeneot

35. Uletreu(meusmreumniled arflumer euflemasmns GCaria| Cgls.
A Gueng, Lkiens, WL Hns, GLgILbsmL
B Gueng, kg, GUgILemL, Lok
C Gueng, GUgILD6ML, LOMINS, LOLHeD&
D Gueng, Liims, GLgILemL, L K&

36. g6 Sevevemmuiletr LS, ‘S6Tem6DT 63(h SLALD LOTETOTELET” 6T6OT)] 6T(LNSHE
Q& metTesTEUIT
A st B efforyeflur C elw,. Gurl D wGrssflsr umydum

37. sousSSer 2 nIL&sT
A 10 B 14 C 8 D 18

38. ‘©lpusssT sSTUINIID 6TeTn Ijm&SSLILIHLD T
A deludlemmn B wenfllCusamen C SFusdigmoemll D samemurud)

39. ‘FInEs LSS SeiTeTss08 OlsmeuoTL ET60
A  ysLgmerarmuilyo B ysGumfls smepd
C IL&86L LSS D udnmiuss

40. srRsIHE LUGTEFELD
A  ellemeTpmm) B s Lerdlinemniiuwrsstn
C olomarsogrms D ryOslL sdiinmpeailmesreiugsin

4. ‘@enswipg)’ sTTm HIeme @umafiiet
A umdumr B umrdlanger C  Erwsse sellgpi D &rsm

42. “Teurd UTRISIL & &n &l(HeumedT
&meug) GLoev sTeoTl) GLIFI(Dleumsar” — sTeTenILd euflsemerTLl Limig LguT

A  &6lwewsfl B Emusse &ellEht

C urldls sellgpr D 2 aumns sellept
43. 6, L, 6T — @\DeLP6ITN)] 6T(LPSSISEHLD G LTSIfl sadlliLg)

A wiiGsTell M B sndll temlp

C srsail Slsm D eeiliyll femip
44. ‘snrssl eefl esraid Smisemgufer gy Siflwr

A mmErElev L eor B eurGeug. sy

C &nGser. yssysi D &l.& Qasveolium
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45. ‘mretCammid 2 L muuiind Glair’ sTeLg) eTeuaImSS CGTLIT

A sLLemeTs Gmi B Qsidls Gsmi
C o eum&sls Qi D 2Leum (s Gamir
46. (g0 LFssefl {Te6
A urgeaismgLl LiTesf] B @remflusisnsl Liremfl
C sansssgiurssf D &&sWwrsliLrensf]
47. ‘Seorssails Hasld’ eTern) D wWrenrs GHILINGHEGmmD
A 2 (hsmev mFmILEToT SHel B @.wm urea ifioeosfliin
C Iumssndl D umumrsd e
48. (&SI aIHLD Ijlg
A @mery B gjemeuy C &gl D Ghigevlp
49. u&Gleuretor SPSS6MTE G EHTS6 60 2 6T6T LIMMTeL
A @)etTeTIT HTDHLIG B sereufl mrmusg)
C @eflusme BrHUS) D & BrhUg)
50. ‘tgyemmineunil’ sTeoTamLD HTedleoT oy Siflwit
A Quwri Gsifliuafssmeo B B15&@SSermt
C Gomerblomfls Caeaurr D &m5558556s6ut

51. Quifluyyremrsding Casdlpmt @ Guwr
A SmsLsmsorLi Gsmems B Ga&dlpmi yymerid
C Hms0smerLir Smarmksrs D &lms0smsuorLir Lymemrid

52. ‘wmisfl U558
A Gsmfleorg G B @Leaurg Gluwrr
C Hevemumg GQuwir D asmeveumg Gluwim

53. L (H508mms EHrsussfls) 9su, LML Sabhs KT
A GOphrpesmms B udnnpiuss C uflumied D @nnbstans

54. ‘o|TE6T’ 6TEOTLIENS ‘|6MTE6IT 6T6ITN)| S N)IEUS)
A @605 86u0T(LPEDLILG) B eme
C [@essemr GuTsd D QL &ar_&s60

55. ‘GlumstTenraid’ sTeorm Smisenguileor oy Sl
A Qewsihgeor B uyglemwlitlsseir
C Ulyugpaer D @.um. nmeyGasmumeusst

56. ‘sLilp mrLsl GurTEfwm srermenypdssUiubLeT

A SRISTSHTEV SeuTLHS6T B Gurnilepri jevoremorm
C  Syi.st6r0. LGeoTTaHIT D LIDLO6L SDLIGS (LSOl

https://www.freshersnow.com/previous-year-question-papers/



57. usGYHEI Lsuauemr o &ifleg asTaTe
A FhSITET Seursd B &Ll eeTemsy
C &z5ard D wumfl

58. ‘smIlIL| LeVTES6T 6TEITLIS)
A wrys saflems B omanss:  C ussselms D edlwarss.

59. ‘smeugd Slhgl” LmgiLeurr

A O|6U0T6UOTTLOGMEVLLITIT B wsrseil umydumm
C  O|TEEhE6uT(LpS6OTITTT D o meordfimrsi
60. 6.6TOTEUOTLD S6V6LIMLIGY SiflSEI60aT(HES6TTEL Rl OLILD DTS
A el lpemaLll Luens B yemeorum eefliuiid
C alymad Qaid D K560 6U6mTESLD
iii. IyESleoh — English

61. Choose the correct phrase to fill in the blank in the
sentence.
She living in Chennai since 1989.

A havebeen B hadbeen C have being D has been

Fill in the blank with correct Homophone.

62. I thought it might

A reign B rein C ruin D rain

63. Change the given verb into noun form : Imagine

A imagination B imagined C imaginative D imaginary

In each of the following sentences, an idiomatic expression or a
proverb is highlighted select the alternative which best describes
its use in the sentence.

64. The police will leave no stone unturned to discover the murderer

A turn every stone B investigate thoroughly
C make no excuse D be indifferent

65. The concert was brought to a close with a display of fire works

A concluded B interrupted C announced D cancelled

10

https://www.freshersneys.cemiprexiousnyear-question-papers/



In the following passage, there are blanks each of which has been
numbered. Against each number, four words are suggested find
out the appropriate word in each case

A rich land owner was on his deathbed, gasping for breath. He
told his three sons to dig under his bed when he was gone, and he
died. Some days later, the sons dug at the spot and unearthed three
pots, (66) one above the other. The first pot contained mud, the middle
contained dried cow dung and the (67) pot contained straw. Below this
pot there was a silver coin. The brothers were puzzled. “Obviously,
father meant to (68) some message to us through the pots and their
contents, said the eldest brother. They (69) for a while but (70) of them
could come up with an explanation.

Finally they decided to (71) their doctor, who was also a family
friend. The doctor laughed when he, heard about their problem. ‘Your

K

father loved puzzles,” he said, ‘The interpretation is simple. The
topmost pot contains mud you say, that (72) he wants his eldest son
to have his fields. The second pot contains cow dung. It means he
wants his second son to have his (73) of cattle. The last pot contains
straw. Straw is golden coloured that means he wants his youngest so
to have all his gold.”’ The brothers were happy with the way their father
had divided his wealth and appreciated the doctor’s (74).

‘The silver coin at the bottom of the pots? What does it mean?’

asked the youngest brother. Your father knew you would come to

consult me,” smiled the doctor, ‘The coin is my (75).

66. A only B stand C stood D placed
67. A least B lowest C less D deep
68. A tell B request C order D teach
69. A think B thought C relaxed D taught
70. A one B either C some D none

11
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71. A go B told C consult D take

72. A meaning B telling C suggesting D means
73. A herd B flock C gathering D school
74. A effort B wisdom C brilliant D wit
75. A friendship B pot C fee D keep

Rearrange the following sentences in proper sequence to form a

meaningful paragraph, and answer the given questions.

A) The farmer called his neighbours and asked them to help him
put mud into the well but the mule thought that he was calling
the neighbours to help him get out of the well.

B) A farmer wanted to get rid of his old mule and buy a new one
but the mule always came back from wherever the farmer left
him.

C) He walked away from his cruel master and never returned.

D) One day the mule fell into the well and the farmer thought, ‘Why
not bury it there so that I don’t have to worry about getting rid
of it?’

E) The mule started shaking off all the mud that fell on him and
kept climbing on the leap of mud as it fell into the well, soon he
was on top of the mud heap and he easily got out of the well.

F) When they started putting mud in the well the mule realized his

master’s plan and started thinking of ways to say himself.

Choose the correct order of the sentences from the list given
below:
76)

A ABDCEF B BDAFEC C DFEABC D BDEFC

12
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In each sentence below one word has been underlined. Of the four
words suggested under each sentence, one can replace the
underlined word without changing the meaning of the sentence.
Find out the appropriate word in each case.

77. It was a useless attempt on her part to participate in the
competition.

A fruitful B future C last D futile

78. He is reluctant to ask for permission o leave early.

A unhappy B wungrateful C unwilling D wunsatisfied

Choose the word which is most opposite in meaning of the word

given.
79. Polite
A angry B sheepish C offended D rude
80. Reveal
A show B exhibit C conceal D prohibit

81. How many meaningful English words can be formed with the
letters OTE using each letter once?

A none B two C one D three

The following sets of ideas / objects have some common feature /
function. Spot the odd one out

eg: bag, basket, hat, bucket

Ans: hat — the others are used for carrying things.
82)

A bite B chew C suck D nibble

83) Choose the appropriate word and fill in the blank

I do not know what my father choose that

particular school

A happened B controlled C asked D made

13
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Read each sentence to find out whether there is any grammatical
error in it. The error, if any, will be in one part of the sentence.

The number of that part is the answer. It there is

84) while he was walking along the road (A) / a speeding car (B) /
knocked down to him (C) / no error (D)

85) Everybody know that his failure can (A) / be attributed to (B) / his
lack of practice (C) / No error (D)

86) Do you wanted to discuss this (A) / project today or can (B) / we

do it tomorrow (C) / no error (D)

87) What animal is found, by taking the fifth letter of the second word,
the ninth letter of the first word, the sixth letter of the fourth word and
the fourth letter of the third word?

PARTICIPATION

SHOULDER

SYMBOLICALLY

SALESMAN

A TOAD B LAMB C BULL D MARE

88) A horse is tied to a 30 feet rope. A haystack lies 40 feet away, but
the horse is able to eat it. How is this possible?

The horse is very smart.

The other end of the rope is not tied to anything.

The distance is not measured correctly.

The wind blew and brought the haystack close to the horse.

oow»

89) In the Active Learning Method (ALM) Mind map is drawn to check

the of the students.
A drawing Skill B writing Skill
C understanding of the content D to while away the time

14
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90) Identify the compound sentence :

He is too tired to walk

After he had done the sums he went to bed.

As she worked hard she completed the work.

The farmer was old and he could not plough the field himself

gow»
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iv. (a) Mathematics and Science

91. smSSI L SHems HlissorufiiGum
A umLSSH L & pefeori B  augly g diflwisst

C so0al U IBTS6T D semssoowmdiflurser

Curriculum is designed by

A Syllabus Committee B  Class Teachers
C Educational Experts D Headmasters

92. Sl6tTerI(TH6U6BTEUMMIET FTTLIST 6T600T 618 ?

A (7,21) B (3, 15) C (3,5) D (6,2)

Which one of the following is relatively prime?

A (7,21) B (3, 15) C (3,5) D (6,2)

93. 8l srers (2+/3 + +/5) (V/5-24/3)

A -9 B 12 C -1 D -7
Evaluate (2+/3 + +/5) (/5 - 2+/3)
A -9 B 12 c -1 D -7

94.QarhsslulL n esorseafl (N>1), s srevor 1 - 1 LOMN) 6T630T 61T
n

S|ETSHGILD 660TMISH6T 6T63fl60, N eTevoTSHerfl6tT ST,
A 1 B 1 c 1 D 1
1-— n-— n-—
n

n n

Given n numbers (n>1), of which one is 1-l and all others are 1’s.
n

The mean of the n numbers is

A 1 B 1 C 1 D 1
1-— n-— n-—
n

n n

95. gy iSSILLd 1 (&6 9 el TSI L 6T6t0T Q) 6ML_&6T @\HHSET. JjaueT 3
6T600T 9L 60LGH6meT 6T(HSEG Iems@GLd sTetor 280—& @D 300-&@GL @emLuilsy
@m&s Coustr(hGloefled ECLp 2 sTeraumniled sTems TS Goustar (HiLd.

16
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A B
2 3 2
6
7
9
C D
3 5 7
8
1 2

Arthi has number cards with numbers 1 to 9, if she wants to
choose three cards to form a number between 280 and 300, then
she has to choose option.

A B
2 3 2
6
7
9
C D
3 5 7
8
1 2
96.2 &1 = 85X eraxfled, X 67 eIy
A -1 B -2 Cc 2 D 3
If 2 @1 = 83X then the value of x is
A -1 B -2 Cc 2 D 3
7 329.728 =X srefléo 329728 L[lﬁlllu
0.00297
A 10x B 100x  C X D X
10 100

17
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329728 it 239.728 _

297 0.00297
A 10x B 100x C X D X

10 100

Find the value of X

98. (x-1) erearig) X° + 5X° — X — 5 61 g, &myevw) sTenfl6, Lomm &myemilasem
A (x-1) (x+5) B (x-1)(x-5) C (x+1)(x+5) D (x+1)(x-5)

One of the factors of the expression X° + 5x> — x — 5 is (x-1). The other
factors are
A (x-1) (x+5) B (x-1)(x-5) C (x+1)(x+5) D (x+1) (x-5)

99. 11 Frfleu&:&; eTetoTsvnll60T @)V S MISET6IT S (hS6L 6. |hS 6TevT6TO 60T 18—
o SLSHST60 @6V SmIST @)L_LD LomnILD 6Teofl6b ohS 6Tevor.

A 51 B 24 C 33 D 42

Sum of the digits of a two digit number is 6. If 18 is subtracted
from the number its digits are interchanged. The number is

A 51 B 24 C 33 D 42

100. . “1genGleusadiur” aumed snHmedld sTHLEID @LieomenLog 6T
2 L 60T (PSS QST smL LS.

A GsL L6 LHmID 6THSISHE B UgSHS60 LHMID 6T(LSISE)
C Gu&sge LOmID Lig &6V D Gusgs mmid GaL L e

Dyslexia is associated mainly with difficulties in
A Hearing and Writing B Reading and Writing
C Speaking and Reading D Speaking and Hearing

101)  e7Caemd epsatm) (&CamemTrugsflea epeirm Camemmigsflar s (D60
&L almsUile gjmalms 2 HNICHTSESIL LomsuoTaleT
30°+45°+105° = 180°
30%+60°+90° = 180"
45%+ 55° +80° = 180°
Ieunnlesr s (hHsedledlmng “6The @ (P&ECaTamTsdlr epery Gamemrmiseflsr
&n (60
180° e160Tm Ylea&@E IHEMT6T. @55 SHMED (PMMILITEITS).

A uELY (psom B Q&g snme (psmm
C alldleum (psom D eldaflarse (peom

18
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A Student observes the angles of any three triangles as follows.
300+ 450+ 1059 = 1800
300+ 600+ 900 =180°
450+ 550+ 800 = 1809
He concludes that “Sum of three angles of any triangle is 180°".
This method of learning is
A Analytical B Learning by doing
C Inductive D Deductive

102) 500 @&.5. + 50 15 + 5 &5 =

A 500 . B 5558 C 50558 D 558

500 cm + 50 m + 5 km-
A 500 m B 555m C 5055 m D 55m

103) 11 Guenms safler 9|58 aflsmev 10 GueTTssaflsr allmm allemsad @ FLold
6T6afl60 @l eVeVg) B L FH6IHSH60SHE SHTewors:.

A 11% B 1% C 21% D 10%

The cost price of 11 pens is equal to the selling price of 10 pens.
Find the loss or gain percent.

A 11% B 1% C 21% D 10%
104) CAI et Lwsstum(h)

A SNNSENGSTS B auflsmn QsN&sns

C seaflsur sNis5s5NI58Ts D Qawsvdlmer Gobumlpm&rs

CAl is used for
A Instructional purpose B Guidance purpose
C Individualized Instructions D Performance appraisal

105) (5,LPEMEVE; EMSILIT(ETHLD SIMemenT LOmsTaTeUITS6Tl6mLLL QUETITEEGSLD (LPEmM

A olfljmr weom B eursmmm (pevm
C lii6us (pemm D afiflejemr nmih Qelgism (L (Lpenm

The method that helps in developing manipulative skills among
the students is

A Lecture method B historical method

C Laboratory method D Lecture cum demonstration method

106) 6(Ih LomsvoTeuetT -5 -3 = 8 eTetTm| SemwTSS I (HFImmair. Lemip
sTOL(DEUSMETEIT SHMT6TOTLD.
A Yusssflsr Gumssmell DL &HSS IeIEISE LfILTSSTs
B S9jeusmienL il seueTLilsiTsmLolLTe
C Yuwsseaflar snl Lenell UDHIL &[HS8 eUMISE LUFuTsSTe
D @G wréifl sems@sasfle 9nmisE Luiing CamealiLihasme

19
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A student solves -5 -3 = 8. The reason for the error is

He has understood the concept of multiplication of integers.
He is careless.

He is not clear about the concept of addition of Integers.

He needs to practice solving problems of similar type.

ogow»

107) 120 ussRGmaTs C&ETEIL 6 USS55S50, 6610laT (T LSS5I
45 eouflgst 2 6Tererr. M USSESSHMG 24 euflser WG  GHHSTE
USHSSSHSH60 USSMISET (@) @M
A 150 B 165 C 275 D 225

In a book there are 120 pages with 45 lines in each page. If the
number of lines in a page are reduced to 24, the total number of
pages will be

A 150 B 165 C 275 D 225

108) 6( Lswflwmemit er.11,250—8 2an&88 Gamenswrsl Guudmmsir. @)s)
IjsufletT gy e001(H) eu(HLTETSSl0 15% 6Tevflsy jeurflear LTS eu(mHLOMEaTLD.

A en. 75000 B 57250  C ¢mp.6250 D 56000

An employee gets Rs.11250 as bonus. If this amount is 15% of
his annual income, then the monthly income of the employee is
A Rs. 75000 B Rs.7250 C Rs.6250 D Rs.6000

109) R smmaussT gl Gully 10% whmid 20% oy & QT
S6T(EmLIS6T GaTHSsLisr em.5760 &@ allnsiLbhSlsrmg) sTeflsy @)ser
GM5S allenev sTeenr ?

A em. 6000 B ¢5.8000 C ¢5.7000 D em. 5000

A television set was sold for Rs.5760 after giving successive
discounts of 10% and 20% respectively. What is the marked
price?

A Rs. 6000 B Rs.8000 C Rs.7000 D Rs.5000

110) mrmarn ABCD eor Ly

B
- [
N - i
DA
L)
# Fed
A 65 Qa.f> B 56 Qa2 C 150 Qa.5? D 90 Q&.5?

20
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Area of the quadrilateral ABCD is

»
- e
% & e &
T
L)
# 2
A 65 cm? B 56cm? C 150 cm? D 90cm?

111) (I HTSHmS SimeflliLugnasmer gjpliLmL & SL_HILUm(

A 1yserefl B 3 uysteflser C 2 uysmeflaer
D Gri&Gam igssmwns 3 yeraflast

The necessary condition for the determination of a plane is
A One point B Three points C Two points
D Three non-collinear points

112) afglam (Pemm TETLIS.

ueGeu)| eT(HSGISST(haeafleadl(mhg GuTg) afd)

STGeT — SHMEL (LPevM

GU SHMEL (Yo

&L Qurmefledmig LmLuTmener CrrsElE Glaaasen

oo w»>

Induction method is

A From various examples to general concepts.
B Self learning method

C Group learning method

D Moving from abstract to concrete

113) Q@ L eugafleorear smhly snfullsar oumb 35 Ge.f. @& 6
FGITLOTS EUENETHBLILILL T, JIFSFSHITSHE6T LSS I6Te

A 220 Q&.Lb. B 55 Gl&.Lf. C 35@a&.Lb. D 70 G&..f.

A copper wire is in the form of a circle with radius 35cm. If it is
bent into a square then the side of the square will be

A 220 cm B 55 cm C 35cm D 70 cm

114) &600118 LIRS Sl SST60 TMLIHILD HEITEmLD

umL& @y swmflé@L &mer aueTi&mg)

SNHUSS60 2 LsTeT SWMTSHS 2 Se|flng)

Smetrsemer L lgledlL 2 6 Smg)

ST SOUTmLSST  epeuld  SHUSTD  SHMeL  QuTmsT  HeonEsHTS
ol Sm&.

o0 >

21

https://www.freshersnaw.camiprevieusnyear-question-papers/



Use of mathematics laboratory is

Develops the ability to prepare notes of lesson

Helps to prepare teaching aids

Helps to list out the competencies

In it learning becomes meaningful because learning is done by
visual aids

ogow»

115) 6,6,9, 14, 8,9, 9, 8 ereirm elleurmugEmé&sner @ flams, Ws®
oM eiFs gy Swammler srmeif

A 8.5 B 10.5 C 8.8 D 10.3

The mean of the median, mode and range of the observations 6,
6,9, 14, 8,9, 9, 8is

A 8.5 B 10.5 C 8.8 D 10.3

UletTeu(mLd LIL LomeTs) 6(h &ML Sler LevGeum) ClFsuailemmisaflsr &&6558m&s
GN&HNG. eunemmLi Lig S8 Wstralmd allearmésEns e allenLwsflégeaL.
A — 2 o5, B — gienfllsamer Gaeeay, C — Lwemnrd Geeeay, D — GaLilliy

E - of_(h eumLems, F — @s7 Gseveayser

Famity  Expendliture

The following diagram represents the percentage various expenditure
of a family . Based on the data answer the following questions.

Family Expenctiture

A — Food, B - Spend on Clothing, C — Conveyance, D — Saving,

E — House Rent, F — Miscellaneous

22
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116) LOm& eu(mLomenTLD ¢r.3080. g aupLTarsdlo Cailiifinsrs
R8I6&LILGLD CFTens sTelalaTe| ?

A 510 B 616 C 620 D 712

The monthly income is Rs.3080. How much amount is spent on
saving per month

A 510 B 616 C 620 D 712

117) UL S&l60 i (H euTLemaslumsd Qjeml L L 6L Gamesorls Liggludlesr
600G GSHTEHOTLD 6TELIELETE|

A 560 B 340 C 540 D 369

How many degrees should be there in the central angle of the
sector for House Rent?

A 560 B 340 C 540 D 369

118) WSS Tme algaisme IMPSILHSS 2 Salb 2 &hs
S|EWIGS Y0

FEHams SiHSH60

aflifleyem (pemm

UGIGSHO] Hlp &6

@amfled [I LSSl eLpeuld Cl&FIIS) ST L6

gow»

A suitable approach to introduce coordinate Geometry is

A Solving Problems

B Lecture Method

C Role Play

D Demonstration using technology integration

119) 20 erevorgeflear sqmaif] 59 eTetrss. e6vGlEUT(T, 6TERTEIMIL GQILD 3—n&

&aLlg 6uTT6V HlemL&(GLD eTevard6rfletT FTmarf.

A 56 B 62 C 177 D 196

The mean of 20 Number is 59. It 3 is added to each number the
new mean will be

A 56 B 62 cC 177 D 196

120) L& a6 eumled 618 &ifl ?
A 9+3x2-4-2=10 B 6+4+2-1=4
C 4x3+4:2=14 D 27 +3-2x3=21
Which is correct?
A 9+3x2-422=10 B 6+4+2-1=4
C 4x3+4+:2=14 D 27 +3-2x3=21
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A
C

A
C

A

A

121. Sl L Lunmsmeu @smmur(h sTHLIheISME STITeuTLD
afLfl&CamarLd &(HhiG g B ellflsCsmsmid Heraig)
afflQevsarleir Gl Glgmemsvay BettrgMm&S0 D @lemaILMEITSSID

Myopia — defect may arise due to

The eyeball becoming too small B Elongation of the eyeball
The focal length of the eye lens D all the above

becoming too long

122. DML _TE6IT (56T0TIe 63T SIS ST @)eneuTe| allsmesr
H?2+H® —» LHe*+on' + SL,HMED

H? 4+ 1 — 2He*+2,n"+ SLHMED

H2+H? — L,He'+on' + SL,HMED

H2+H? ., sHe*+2on' + gyhmed

oow»

The Fusion reaction in the hydrogen bomb is
H2 4 1 . 2He*+ on' + Energy
H?2+H®  — ;He'+2on' + Energy
1H2 + 1H2 . 2HC4 + on1 + Energy
1H2 + 1H2 —> 2HC4 + 20n1 + Energy

gow»

123. sdliaisdler gjeme] Ieuamed gjeraflLIL(HiLd
A &g B GL&lus C SOl D  mesorL sgedr

Radiation Exposure is measured by unit
A ray B Decibel C Fermi D Roentgen

124. 8 sumeTalliLed 9je@E (AU)
1986 x10°1f B 28x10%fi/e9 C 1496x10"f D 9.467x10° 5

One Astronomical unit (AU)

1986 x10°m B 28x10%/e9 C 1496x10"m D 9.467x10°m

125. LlesTeor (WSS Goumum_igsr S.1. 9
A b B Geumsol C gyt D &

The S.I. unit of potential difference
A Ohm B Volt C Ampere D Coulomb

126. 1S 6L UMI6) 6TTHS 6R6ITM| HTVSHHET (VG I606V
A gysor(h) B qafl gueior@  C  mmer D Gmmg

Which one of the following is not a unit of time?
A year B light year C day D second
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127. LormiefleoTm LblsargemLuflear @Guui(
A M. B () C v D 7‘/}4

The symbol of variable resistance is
A AV B __()_ C t D A/HA

128. ELg| afl lg6) Henl&@L LTmiSHens ilsTGerm L SHler o9SiTGleveor
A 240 H, B 100 H. C 10H; D 50H.

Frequency of our household alternating current is

A 240 H, B 100 H, C 10H, D 50H,
129. LyLOlUG6h S60HGI6TTeIT 6mIBL_Ten6aT
A Gaailligw smrse B 990 i smrse
C OsaillLrs samras D @emamearsgin

Nitrogen in earth’s soil is
A Saturated Solution B Super Saturated Solution
C Unsaturated Solution D all the above

130. 6C13 nmmitd 7N 14 9605 86maT 6TEUOITN)| |6MLYES60ITLD
A oGamumTseT B oGemLmsrgst
C oGerGLmiys6T D smiuesfler sgGamGLmiy

The atoms ¢C13 and 7N14 can be described as
A Isobars B Isotones C Isotopes D Isotopes of Carbon

131. S1pS s etoTLummIsT 678 Counml |6l eSS ) ?
A Oz B Ho C NHs D H2SO0O4

Which one is hetero atomic molecules?
A O B H- C NHs3; D H>SO4

132. SLE&SEUTL UDMIET 6THhS 660TM)] o) S0l GermmLT&HTE)
A ML TeemeT MMy B y&eleemett 67mHmen
C oam romer EEGEHH D TSLTTETSMmET @I&5560

Which one is not in oxidation?
A Gain of hydrogen B Gain of oxygen
C Loss of hydrogen D Loss of electrons
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133. @Irsssdsr pH &l
A 6 B 84 C 74 D 5.5

The pH value of blood is

A 6 B 8.4 C 74 D 5.5
134. Sfiiy G eumyellsr Geudlufiwisd Gl
A BT g &ema(h B smodlwin ssGul
C smadlub g sme D BT 6oL 9 &eman(h

The chemical name of laughing gas is

A nitrous oxide B calcium sulphate
C calcium oxide D nitrous dioxide
135. 2 Geurall CUTedl& S 2 STTesrLd

A Uermmigend B Gemoresfud C  Symsoul D Gleusierfl

Example of Metalloids
A Platinum B Germanium C Graphite D Silver

136. usi& Q&8 EnsE ThiSgISsT ()
A Gmev B Grmegr C (e D Geubdy

Example for shrubs

A Paddy B Rose C Radish D Neem
137. oo B sumpeuseumins e T(hSSISST(H
A &SN B emu6oTen C Lomev D uye

Example for Bryophytes
A Cycas B Pinus C Moss D Grass

138. urdlgsmer GMlESs jnfladiied
A ursleflumegdl B 2r el C Gsswsdued D emuSsmeugd)

The study of algae is called
A Bacteriology B Physiology C Cytology D Phycology

139. OmréSselsr GCuTS) sum GeusfiurSima
A o&adlmer B eplrmer  C o smiusmemL gusemen®b D &Garmilsor

The Gas liberated during fermentation is
A Oxygen B Nitrogen C Carbon dioxide D Chlorine

140. sparflufletT &TevoT(HSaISHS) FTHMEUT) STEUT LTSSEHNE) sTOL(HILD Zjense]
A geflamiuemga) B yellemiusnsey
C Gedlsmiusmge D Brismiumse,
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The movement of a plant part in response to light is called
A Phototropism B Geotropism

C Chemotropism D Hydrotropism

141. 9|Lil6v LOEDLD 2 (HEUTSS SHITITEUTTLOMEIT 6UMTIL| 678 ?
A gsallmear B onlrev gusmenbh  C @Gemmfler D emami e

Which gas causes Acid Rain?
A Oxygen B Nitrous Oxide C Chlorine D Hydrogen

142. iBiflstr eLpsuid seuflaEmid allemg & Emi LTe|SaIsE) TOSSISSTL (H
A Yjeueor B Qgermmer  C uer D &5

Example of Fruits and seeds dispersed by water.
A Bean B Coconut C Jack D Brinjal

143. aflouriE lgsusafled L (HGL SresrliL(Ld g 2 ML
A Buysefluev B Nemmevwrgeuey C feurGamb D Glasr GrmGemd

Which cell organell is found only in animal cell?

A Nucleus B Plasmamembrane C Ribosome D Centrosome

144. urslefliumene gierell(Hid G
A &lpmb B uWiLr C Qeureaflwir D eoLwsiymeor
Bacteria are measured in Unit
A Gram B Meter C Vernier D Micron
145. NUAGWIr urSlefiumailss aulg oD
A smystefl B &mer C &l D Gsmemd

The shape of Vibrio Bacteria is
A Comma B Spiral C Rod D Spherical

146. @eumnlev emeurev Gl 6T ?
A GumdlGur B G@LliLerev C GmyGrmi D wGerflum

Which one is viral disease?
A Polio B Tetanus C Leprosy D Malaria

147. orLilwedler SmHeng
A sndnCeasr B Ouweored C GevssorsvGlsirearm D  eTLoigeor

Father of genetics
A Chandrasekar B Mendel C Landstenner D Emerson
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148. Gu(prhiGLedler Herid
A 2L B 3uiLr C 15 D 6L

Length of large intestine

A 2 meter B 3 meter C 1.5meter D 6 meter

149. Caenfl aueTLILSS) 2 ShS @)6urLd
A eadlev @emgsr B erflev yGemmiflwm
C ellevLmGslrr D eflev Gosued@uipm

Best Breed for Apiculture
A Apis indica B Apis florea
C Apis dorsata D Apis mellifera

150. LB Caelu Lymisrallsr @)l b
A GBS B simmLar C geveurn D Garerm

Bandhipur National Park is in
A Gujarat B Karnataka C Assam D Kerala
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iv. (b)

91. amriur BreEfe5EH0 CUIHRIEGATD’ @)HHSE! 6T6ITLIS 2 60T S8I6I5)

A
B
C
D

The significance of the presence of ‘Great bath’ in Harappan

Social Science

TET wrélfl eflsormsmst / TET Model Question Paper

oo gflefiued  Social Science
gmer —II - Paper — II

iBrfler (pSELSGIaLD
iBiflear Yeofl S & 6tremio
iBifleor GerLhlliy

iBiflear LweaTLIT(H)

Civilization
A Importance of water
B Holiness of water
C Water Harvest
D Utility of water
92. 2 GG LI&E ClgTsTenLowTsTtlgeT euTaTHMMIERTSHETTE &(HSLILI(H6IS)
675 ?
A snmss swaeaf]
B el wemas@s tandaerer LG
C o Gung @hdus swbleusfl
D @rduraisr e SpseE LG

Which is considered as the most ancient part of the world by

historians?

A
B
C
D

Gangetic Valley

Southern part of Vindhya Mountain
North Western Indian Valley

North Eastern part of India

93. Goug &mev Glustor &6llEhiasT

A
B
C
D

diregmud), ellgaund), sgLomsorm
hlexa&sm, LmEhamedl, seursuorm
s, smw&Grul, eememe
I|ueom, Gamem, GeomLLpm

The Female poets of Vedic period

oow»

Prajapathi, Viswapathi, Sadamana
Niska, Panjali, Swarna

Garki, Maithreyi, Avvai

Abala, Kosa, Lobamudra
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94. Gusrss gmellsaflsr elleTrmgsT Ghe Lomhleul
A e&ipmLsd B dsmm  C amisen(h 0 D el

The State that comprises more number of Buddhist Viharas is
A Karnataka B Bihar C Jharkhand D Oddisa

95. s dInELIg Guerfiwuflsr g1 &8 &meuid

A &lw.298-273 B &lu. 324-299

C d&lu.261-236 D &l.up. 280-255
The reign of Chandragupta Mauriya

A B.C. 298-273 B B.C. 324-299

C B.C.261-236 D B.C. 280-255

96. Srmeuevd) sTeTLIG)
A 1 B Geougmred C B D Gamelle

‘Siravasthi’ means
A River B Holy book C Town D Temple

97. amiegr suL_Glomfludled stupdliu mreo
A sGrmevdl B siwelouwn C wsrmmissn D rsermeef]

The book written by Harsha in Sanskrit

A Karosthi B Dharma Vijayam
C Mudraratshasam D Ratnavali

98. &l-1,—~&) ETETEILD HIT6H So MIEUS)
A emiewfler Hifeursi B Guerss gL
C eamiagfler usmL G D BT6THST LIVSEMESSLHSL

The book ‘Si-Yu-Ki’is on
A Administration of Harsha B Buddhism

C Conquests of Harsha D Nalanda University

99. 50 OrrCanT Camellsmas SL lglLaTs 6T

A FhGseiser B @rmeousalniser
C Qaersmerser D udlpdlamyisst

‘Khajuraho’ temple was built by
A Sandelas B Rajputs C Chauhans D Prathiharas

100. Cammiger LesreT 6613 sm6LITSH6uTTT, HEmeVLSEHenT CamraalT eTaarm
G580 mE5) wmmblu G
A amiasn B Gsaudlfl  C Qamd D giounmmswssinn
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Vishnuvardhana, the Hoysala king, who shifted his capital from
Sosaveer to

A Warangal B Devagiri C Venki D Dwara Samudra
101. spin@umeiTenTTed Hlsmev Gl semevemint YIPSLILIGISSILIEUITS6T
A UeeAITSSIT B Umsmeoll Lisvsuari&siT

C Gamyprigsr D Uhsmug Gampiser

Iconography was introduced by

A Pallavas B Later Pallavas
C Cholas D Later Cholas
102. sLg sleflullsar 17 usmL Gu@liysemsTl Lnls @GMINHILD
sursummml gy Sfwir
A &I STedT LomT6mey B & o
C & Gamer eTedlw D &ii. Qemsirl Gumi(

The historian, who mentioned the 17 invasions of Muhamed
Gazani was

A Sir. John Marshal B Sir. Thomas
C Sir. Henry Elliot D Sir. Henry Ford
103. ‘UTELISORT’ 6T60TLl LSLLILIL L S T&IT
A GSUSET MuS B umeoLedr
C  GeoEuies D meSstr
The King who was praised as ‘LakBaksha’
A Qut-pu-din Ibek B Balban
C Iltumish D Nasurudeen
104. QILsved ssgmeaTS6T g1 Flulled Geusfliymeys gismm ojemngsfler Gl
A Sleuresf] @lstragm B dleumesf] flevmeus
C dleuresfl gymsiv D &leumssfl gyid

The name of the Foreign Minister in the Rule of Delhi sultanate
was

A Diwani Inshah B Diwani Rizalat
C Diwani Urs D Diwani Am
105. Sma&GaT L1 GuTT memL_Glumm oy etor(H

A &l 1545 B &1 1555 C &1 1565 D &.49. 1575

Battle of ‘Talaikottai’ was held in the year
A AD 1545 B AD 1555 C AD 1565 D AD 1575

106. epsaTmmeng) LimesflL GUIT(H&@) (6T LIEh&TemL snsLILnm @hSumeailsar
g usoenm LsoL GluBHSE et

A sgefl Ysibg B (&lwg Gamf
C 95ug o sl D esmmslL
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The King who invaded India many a times to capture Punjab
before the third Battle of Panipet

A Gazani Mohamud B Mohamud Ghori

C Ahamed Shah Abdali D Auranzeb

107. LTSI 2 L 60TLIp&6m8 GmGlsmerariiu L gy 6ot
A &l9.1650 B &l9.1665 C &l9.1660 D &l 1655

Treaty of ‘Purandhar’ was signed in the year
A AD 1650 B AD 1665 C AD 1660 D AD 1655

108. IyaiHlell Gurreme @hSumaile Carmmiailsgeaut
A @omuil Slemarey B g iGer
C  biisgmur D & s sl

The person who established British rule in India
A Robert Clive B Duplex
C Mirjafer D Sir. Iyercoot

109. summsar Gameigmisny g1 Fullsreumg) 9GTSSiuL e
@ememrSSIULL LGS

A omi&&euer(h B 2 sdlramer(h
C Grmanfsvaesor(p D ubSe0 Smetor(h
The place annexed with Oudh during the rule of Warren
Hastings
A Jharkhand B Utharkhand
C Rohilkhand D Bundlekhand
0. ‘soLo¢gyi Lied)” 6T60T S6mLSSLILIL L 6ut
A oansi 9|6 B &l seugmer
C susi 9 D uGs& smangit
The person who was named as ‘Tiger of Mysore’
A Hyder Ali B Tippu Sultan
C Sabdar Ali D Fadek Hyder

1. &9 1453 gyib o euoTig 60T (PSSILSGIAILD

A 9USTEHS @ITsoT_Teug) I @EhEITe USIGLNME)

B Qamsulus sL60 LiLsmrgma GCnblsmer.g)

C simsslissT sersuLmery Crmismears snsiLmLS)
D gurferm ubhGsmeme Bk

The importance of the year 1453 AD
Albuequrque who appointed as second Governor
The sea route journey of Columbus
Constantinoble was captured by Turks
The massacre of Ambaina

oow»
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2. ngemr prusST g fulflsr semLdl gy Swumei
A S mLoemen HMLSST B esrm &
C  @msuefl omsLbLomeT D ellevaunrs HmussT

The last ruler of Madurai Nayakas was
A Thirumalai Nayak B Meenakshi

C Rani Mangammal D Viswanatha Nayak

3. LebeLeuIT &6 SMESSletr g1 &l GlomLfl
A sl B &Iyhaio C umsdl D swevdlmsLd

The official language of Pallavas is
A Tamil B Grantham C Pali D Sanskrit

4. 5psmu srGearmmsSlsr allsnartlsold

A &b B @@®Lud C uerafl D &epsld
The nurturing field of social progress
A  House B Family C School D Society
5. @i Sumreiley 2 _erarm &l gysmLolisnLl (P&eT(Lp&edlsy sTmLBSSLaIT
A &gt 97y B  amenflhi iy
C  Mduer iy D LeGamsrdl Myy

The local Government in India was initially established by
A Lord Curzon B Lord Canning
C Lord Rippon D Lord Dolhouse

116. sLlpmIL g syieiterr oemym & spsoTnilirissarflear 6Tetorsunll&emas
A 370 B 375 C 380 D 385

Total number of Panchayat Unions in Tamil Nadu
A 370 B 375 C 380 D 385

17. wmhlovrisarenauuiled Glpras Semeueured Hiiosrd GlEuiLbio
2 minSeurrigerflear eTevorevaflHemas
A 12 B 14 C 16 D 18

The number of persons nominated by President in Rajya Saba

A 12 B 14 C 16 D 18
118. epstr) Lomleorisafled gjsmLombglerer wyesfliuer HlFGeeLd
A oL, LMoedr B a&r&im prsit snamGeed)
C &oeampsT D yg&Gsif
The Union Territory that is located in three State
A Dieu, Damen B Dadra-Nagar Highvalley
C Chandigar D Puducherry
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19. @i Slwumellsar Glorgs LirLiLeTey

A 3287, 263 g.dl.L. B 3187, 263 &.5l.L0.

C 3488, 326 g.4\L0. D 3286, 362 g.4\.Lb.

The total area of India

A 32 87,263 Sq.Km B 31 87, 263 Sq.Km

C 34 88, 326 Sq.Km D 32 86, 362 Sq.Km
120.

I|rélwey fliesoriu FenLUfeT (PSH60 &nl L SSNE SHmevsnio eUSHSS e
A &L .oyt ouGusstt B LITSLI. §6815TahS SleTam
C LmsLi Ga.emib. (peirad] D LrsLi @orGandly Nrers

The first meeting of constituent Assembly was presided by
A Dr. B.R. Ambedkar B Dr. Sachidananda Sinha
C Dr. K.M. Munshi D Dr. Rajendra Prasad

121. giemeTeHSELD Sevail auphiGLD IjTfusenioliisr ifley
A 8758 43 B ar58 44 C &s158145 D ar58 41
The Article which deals with ‘Education for All’

A Article 43 B Article 44 C Article 45 D Article 41

122. STTST &L L0 Gl&meor(h surLiL’L oy etor(h)
A 1927 B 1929 C 1937 D 1939
‘Saradha Act’ was enacted in the year
A 1927 B 1929 C 1937 D 1939
123. 2 608 6UMIE 6TEITLI
A IMF B IBRD C ILO D IPU
World Bank means
A IMF B IBRD C ILO D IPU
124. @ndwreile e gSlsLme GuaLLbILd @ Taug @kl GLomfl
A eamstard B Osamg C semeorLd D erflum
The second Indian language which is widely spoken in India
A Bengali B Telugu C Kannada D Oriya
125.

@igurails CHEu weflg o Mt gy metoruid FHUGSSLILLL
S
A 1991 B 1992 C 1993 D 1994

In India, the National Human Rights Commission was
established in the year

A 1991 B 1992 C 1993 D 1994

34

https://www.freshersnaw.camiprevieusnyear-question-papers/



126. Gummeflwedlesr 9jieliLHL & S mIS6T
2 NUSE), GEmLfley, a(mLoTeoTLD

2 MUSE), Qsmfle, BisT&d

2 NUGE), BISTES, uflie]

2 NUGES), LElTe, 6(HLT6ITLD

gow»

The basic features of Economics are
Production, Labour, Income
Production, Labour, Consumption
Production, Distribution, Consumption
Production, Distribution, Income

gow»

127. Qummeafliuedlsr mHms T 9smp&sLLbILaIT
A eQmeHT LOMITER60 B gL 6uifls
C  SIJ6L WMT&6Mn D LomeugTei

The Father of Economics

A John Marshall B Adam Smith
C Karl Marx D Malthus
128. LOM6BTL_LIT 6T63TLIG;]
A o Gymomesfiu Quetsr SLejer B 2 Grmomefliu 2_6mre| olema
C Gpmomssflu maiyid D 2 Gymomssfliu erW&s) (psmm

‘Manatta’ means
A Women Goddess of Romans B Cuisine of Romans
C Town in Rome D Script of Romans

129. tgfws GHIuSSHs (8fiuamis@ e 9| mle 2 smem Gamer ?
A uufl B usgsr C Gssueumis D Gmliguy s

Which is the nearest planet to the sun in the solar system?
A Earth B Mercury C Mars D Jupiter

130. GrmoeiTs LISL 60 LGS jemLomhgi6Tar GlLihhigL 6
A gllemenes GQummsLe B @nHu Gumhis e

C udis QueprsL e D et migs GLphisL60
Romanche deep sea lies in
A Atlantic Ocean B Indian Ocean
C Pacific Ocean D Antarctic Ocean

131. sLblpmIL1p60 GlomS &L LrLiy

A 130058 &.5\.Lb. B 2,20060 &.&\.LH.
C 140078 &.8.L6. D 3,60004 g.8)..6
Total area of Tamil Nadu
A 1,30058 Sq.Km B 2,20060 Sq.Km
C 1,40078 Sq.Km D 3,60004 Sq.Km
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132. giflurer Game semers Co 0S5 H1&sa|0

)  LilevL_Te0— gy 6001610 31 Syr&CaT—9) auGredlium
@) sr—regwi m) Sré—wsSu g nfser
A 9, &M@ B @&m C rulGd D 9w L
Select the correct pairs

a) Mistral-Alps b) Sirocco-Australia

c¢) Loo-Russia d) Chinook-Central Africa

A b&c B c&d C Onlyd D Onlya

133. @nsu S L Crr&mss samsdll 2 galn Si&Es0Tms sThe @IhSl
B&T&SS6T aUflGE CFsdng) ?
A Qeuiniyi B ellsmslulgsend C gesmurd D @Grs

The Longitude that determines Indian Standard Time passes
through the city of
A Jaipur B Visakkapattinam C Allahabad D Surat

134. GleuetoTemLol LyL_&
A eTeuoTOlevoTLll 6915886 B uy 2 musé
C  ume QumgpLl&si D wLleoL mmid GamplliListorsnemor

White Revolution
A Oil seeds B Fruit Production
C Milk Products D Egg and Poultry

135. S1P&&60TL UDI6) 678 SLISMHLILD
A oderedur B guumer C meveonhg D Gmiwm

Find out the peninsula from the following
A Australia B Japan C Iceland D Arabia

136. sumesflemev LOTHMMHIS EHESTeT ausflostoTL 0 9 H&E

A Iu®sE B usLw(h&E
C Iueflu®ss D Qeausfliu(hss

The Atmospheric layer of weather changes
A Troposphere B Stratosphere
C Ionosphere D Exosphere

137. 2 q&leir GlLom&s HleoliLriinilev eLpsstafled e(m LIGSH HleoliLirLisnL
G650 Gl et (hsmsm GIL(HHRISL 60
A v &9 QuEprsL e B 9L evmettrigd GlLI(HRISL 60
C @idwl CQumhisL e D 9i&lps GLmhisL 60
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Which Ocean has one third of land surface in the world
A Pacific Ocean B Atlantic Ocean
C Indian Ocean D Arctic Ocean

138. 2 qudler LlGLGILIMIW B &amhd

A GLellev Bri&amd) B urs fi&snd)
C GunGom frgamnd D LmiLm Br&amhd
World’s largest strait
A Dayvis strait B Palk strait
C Borro strait D Tartar strait

139. I|FsLomenr 2 LIS serenio (Salinity) GasmetorL Biflemev
A &melliuesr L6 B surmeor 671
C &MseLM D olLmefl

The highest salinity is found in the waterbody
A Caspian sea B Van lake
C Dead sea D Lake of Uttah

140. &G 2 arer FlesCasTHMS S0 618 Lissfliummlesr Glgwsdleormsy
2_(HEUTEITE) 606V
A U augel LETETSSTEHS B &5
C QMm@ UeTeTSSHTSHE) D 6Tgie @leme
Which is not the work of the glacier from the following?
A U shaped valley B Cirque
C Hanging Valley D None of these

141. S1p&&TamID UL LD 2 680TT $E6.5)

egyiflwear
A (&flw Sirsemrid B Guerrssoriil
C amdlr Syseurid D Jurerms

The following diagram indicates

(=) ©

A Solar eclipse B Full moon
C Lunar eclipse D New moon
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142. LOEMEVS(ETHSSITE 2 608 gjeTalled eTmmIs Gasmsmemii L Hlmi
A Beud B u&m& C wegpset D oy

Universally accepted colour for mountain

A Blue B Green C Yellow D Brown
143. Ulemmé& SHAT augal ‘LTsTsT—60" SrHn) eisid Sag
1
2
 —

a

A 1 B 2 C 3 D 4

On which direction the predominant wind blows in the crescent
shaped Barchan

A 1 B 2 C 3 D 4

144. IiFlaLmer GauiLblene Haald @h&U s
A Qauismeowi B ufsnesmst C U&sefi D 9l

Highest temperature is found in India at
A Jaisalmer B Sri Ganganagar C Bikaner D Ajmer

145. 2 IS gerenoenll (Salinity) 968 2 seajn &ma
A eorGam Bl B ojsulg L
C eTQesL A& B Lir D urGpm b

Salinity is measured by
A Laco meter B Altimeter
C Electric Salinity meter D Barometer
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146. TS IILFCTmssEhsE @emLulle Gl gjmunsns
A 30°ummid 40°6u & G 9Ilsd B 35° wmmid 60° o1 & G &l
C 5°ummid 30° 6y & Qg 9| &L D 5°wmmib 50° 1 & Gl 9| &ld

‘Doldrums’ lie roughly between
A  30°and 40° N & S latitude B 35°and 60° N & S latitude

C 5°and 30° N & S latitude D 5°and 50° N & S latitude

147. @nSlurafsd meubLr psev Wireufl eusnry s litsmeuld, sy Beir (&6
Q&lILLbuT eu6DIT LMLPSSTaVLD, CaHTemLS&Teuld 6TLIGLITS) ?
A reufl-Lomi& B 286 w&SWiledlmhg— 966 murt
C Lomi&—enBeor D Q& Lbui—lg &b

In India from Nov to Feb is winter, June to Sep is rainy reason,

when is summer season?
A Feb to March B Middle of June to October

C March to June D Sep to Dec

148. Quifi auemTUL. gyjsTemausmil CoIh0SHSSI 6T(LDSIS.
A 1:50,000 B 1:00,000 C 1:250,000 D egia|b @ssme

Choose the largest map scale from the following
A 1:50,000 B 1:00,000 C 1:250,000 D None of these

149. 86T gjeTayeTar STHMWSSSSlmenr Qe GlaueGoim| @)L misemar
@enemTs @D Cambaer
A s 2wrsEGsT(h B & 9|Wsss6sT(H
C aulaiusCamh D evamgra&irm

The lines that adjoin different places with the same pressure

A Contour B Isobar
C Isotherm D Hythergraph
150. FlevaemTLL Bigemer L L en&@ELn Jjnailisy
A  smlLr&imy B GLmiGurlyma
C GLGurHymi D LeluSlwiey
The science of constructing map
A Cartography B Topography
C Demography D Geography
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